FEER RN = his
=R | ER 3] ] =
R & 2K | IC
BE | @8 | 1nA 3mA 6m A 1A 3mA 6/ A

R B F 570| 565 17,410] 49,620 94,020 5,100 14,540 27,540
An Jil .9] 570 565 16, 850 48, 030 90, 990 5,020 14,310 27,110
it & Ju| 40.2| 570 565 16,850[ 48,030 90,990 5,020 14,310 27,110
# B 15| 39.5| 490 483 16,560|  47,200( 89,430 4,980 14,2000 26,900
EYMHET 71| 490|483 16, 280 46, 400 87,920 4,940 14,080 26, 680
iz M| 38.2| 490 483 16,280 46,400 87,920 4,940 14,080 26,680
iIo= N .41 490| 483 15, 980 45, 550 86, 300 4,900 13,970 26, 460
XHEBRE 490 483 15, 700 44,750 84,780 4,840 13, 800 26, 140
F 1 B| 35.2] 490| 483 15,400| 43,890 83,160 4,790 13,660 25,870
X #F M 4| 430 422 15,100 43, 040 81, 540 4,740 13,510 25, 600
8 B % 33.7| 430 422 14,810 42,210 79, 980 4, 690 13,370 25,330
R 2 F H L9 430 422 14,510 41, 360 18, 360 4, 640 13, 230 25,060
M | 31.5| 430 422 14,230 40,560 76, 850 4,590 13,090 24,790
A # t F|30.3] 430 422 13,930 39,710 75, 230 4, 540 12,940 24,520
R oa )k 1] 360 360 13, 640 38, 880 713, 660 4,480 12,770 24, 200
T B 27.8/ 360[ 360 13,050 37,200 70, 470 4, 380 12,490 23,660
R 15 .11 360 360 13, 050 317,200 710, 470 4,380 12, 490 23, 660
= B R .6| 360 360 12,470 35, 540 67, 340 4,250 12,120 22,950
A 7| 24.8/ 310| 308 12,170| 34,690 65,720 4,190 11,950 22,630
£ .0] 310 308 11, 880 33, 860 64, 160 4,120 11,750 22,250
2% F%&| 22.6) 310 308 11,580 33,010 62,540 4, 060 11,580 21,930
¥ = .6| 310 308 11, 280 32,150 60, 920 4,000 11, 400 21, 600
# Z= )1l %7 BT| 20.9| 310/ 308 11,000 31,350 59,400 3,940 11,230 21,280
K 7| 20.4] 310/ 308 11,000 31,350 59,400 3,940 11,230 21,280
= 4| 280 278 10, 700 30, 500 57, 780 3, 860 11,010 20, 850
# i 7| 280 278 10,410 29,670 56,220 3,760 10,720 20,310
F &R .b| 280 278 10, 110 28, 820 54, 600 3,680 10, 490 19, 880
B / H HEr| 16.1] 280| 278 9,820 27,990 53,030 3, 600 10, 260 19, 440
# & HEr| 15.3] 280 278 9,520 27,140 51,410 3,490 9,950 18, 850
m X H 4| 240 237 9,240 26, 340 49, 900 3,370 9,610 18, 200
# + » B 13.2] 240 237 8,940 25,480 48,280 3,260 9,300 17,610
sh B F 8| 240 237 8, 350 23, 800 45,090 3,000 8, 550 16, 200
£ X @] 10.1] 240| 237 8,050[ 22,950 43,470 2,870 8,180 15,500
B R E| 7.9 200 195 6, 950 19,810 37,530 2,420 6, 900 13,070
# 2] .6| 200{ 195 6, 590 18, 790 35,590 2,260 6, 450 12,210
R 2 E @ .2| 160{ 154 5, 840 16, 650 31, 540 1,940 5,530 10, 480
B R A .5 160[ 154 5,480 15, 620 29, 600 1,780 5,080 9,620
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FEER R /N\=m »bd
=8 | S8 i 2] i 2
BR & (¥R Hx | IC
#% |@g| A | A | 6mA | 1mA | 3mA | 64A

% R X FE| 1.4 140] 133] 4,580 13,060  24,740) 1,440 4,110 7,780
£ RNE - | - | - - - - - - -

& | 1.9 140 133 4,580 13,060 24,740 1,440 4,110 7,780
: & m | 3.6 160 154 5480 15620 29,6000  1,780| 5080 9,620
# 4 4§ 6.2| 200 195  6,500| 18,790|  35,500]  2,260| 6,450 12,210
% §| 7.3| 2000 195 6,950  19,810] 37,530 2,420 6,900 13,070
% A| 8.3 2000 195 7,320 20,870| 39,530 2,570 7,330 13,880
W&l 9.0 200 195 7,320 20,870 39,530) 2,570 7,330 13,880
B 3 Kk #|10.2] 240 237| 8,050 22,950,  43,470]  2,870| 8,180 15,500
% ~ W[ 11.4 240] 237  8350| 23,800 45000 3,000 8550 16,200
W & K i 12.2| 240| 237|  8,650| 24,660 46,710]  3,140| 8,950 16,960
& % 5 | 13.3] 240 237| 8,940 25480  48,280] 3,260 9,300, 17,610
ﬁ #| 14.6| 240 237  9,240|  26,340| 49,900 3,370 9,610 18,200
#it 5| 33.8| 430 422 14,810 42,210 79,980 4,690 13,370 25,330
X B /B|34.8] 430| 422| 15100 43,040 81,540  4,740| 13,510/ 25,600
X S F@ | 35.5| 490| 483| 15400  43,800|  83,160] 4,790 13,660/ 25,870
X % 48[ 36.2] 490| 483  15,700| 44,750  84,780) 4,840 13,800 26,140
PEZZEB® 37.4) 660| 653 22,2000 63,280 119,890| 6,930 19,760 37,430
TEZBEA® 39 4| 660| 653 22,780 64,930 123,020 7,010 19,990 37,870
% Br| 30.3| 430 422| 13,930  39,710| 75,230 4,540 12,940 24,520
# A& E[ 311 430| 422| 14,230| 40,560  76,850) 4,500 13,000 24,790
JI W X EH| 31.6| 430] 422|  14,230| 40,560 76,850 4,500 13,000 24,790
%P9 @il 32.3| 430] 422|  14,510| 41,360  78,360]  4,640| 13,230 25,060
B % # B[32.9 430| 422| 14,510 41,360  78,360) 4,640 13,230 25,060
AN B % M| 33.6) 430] 422| 14,810| 42,210, 79,980 4,600  13,370| 25,330
7 7| 1.3| 140 133 4,580 13,060 24,740 1,440 4,110 7,780
# ® % 4.1 160] 154  5840] 16,650 31,540) 1,940 5530 10,480
% & F| 5.9 160 154 6,220 17,730| 33,500 2,100 5,990 11,340
% k2122 240| 237]  8650| 24,660 46,710 3,140 8,950 16,960
it A B | 13.1) 240| 237|  8,940| 25480  48,280] 3,260 9,300/ 17,610
WA R BE 159 280 278|  9,520| 27,140| 51,4100  3,490| 9,950 18,850
Y R P % tk| 18.6| 280| 278  10,410| 29,670 56,220 3,760 10,720 20,310
= & & JR|19.9] 280| 278| 10,700  30,500|  57,780] 3,860 11,010/ 20,850
2 R 3 GE[21.1) 310] 308 11,280 32,150  60,920) 4,000 11,400 21,600
= % % | 226 310 308 11,580 33,010  62,540] 4,060 11,580 21,930
= w5 0| 248 310 308 12,170|  34,600|  65,720] 4,190 11,950 22,630
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